Multiplication and Division Practice Booklet Answers
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12 x 12 > 14 x 10

150 + 50 210 = 70

(0

1230 + 8 = 153.75
153 full boxes

161 + 23 =7
7 friends

45 x 4 = 180
180 x 50 = 9000
9,000 tomatoes

34 x 180 = 6120
7000 - 6120 = 880

880 ml
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14.

12 individual ¥~ A bag of 12\
apples for 57p Napples for £6.50/
v

Accept any explanation which
shows that a bag of apples is 34p
cheaper than the individual apples.
For example, 57p x 12 = 684p =
£6.84. This is 34p more expensive
than buying one pack for £6.50.

Two teddy bears = 2 x £3.75 = £7.50
One toy car = £7.50 + 3 = £2.50
£2.50

00-[ 45 )« 3+ 165
(200+)+4=6O

)

(43 + 56) - 32| < (93 +32)-56

9x(38+12)| > | (9x12) x4
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